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 BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING 
 

Question No. 1 is Compulsory. Answer any four question from the remaining five questions. 
Wherever necessary, suitable assumptions should be made and disclosed by way of note 

forming part of the answer.  
Working Notes should from part of the answer.  

 

 

Question 1  

(a) M us ;g ok;nk fd;k og N mldh lsok ds fy, Hkqxrku djsxk ij lsok M dh bPNk ds vuqlkj 

mfpr rFkk U;k;iw.kZ gksxh vkSj og gh bldk fu.kZ; djsxkA Hkqxrku feyus ij N ml Hkqxrku ls 

lUrq"V ugha gksrk gS vkSj og M ds fo:) nkok djuk pkgrk gS ;g fu.kZ; djks fd D;k N, M ij 

Hkkjrh; vuqca/k vf/kfu;e] 1872 ds izko/kkuksa ds vuqlkj nkok dj ldrk gSA 
(2 Marks) 

 

(b) Mr. X us vius fdlh ifjfpr ds lkFk feydj xjhc cPpksa dks i<+kus ds fy, /kkjk 8 esa ,d dEiuh 

cukbZA dsUnz ljdkj us dEiuh dks /kkjk 8 esa iathd`r djus ds fy, ykbZlsUl tkjh dj fn;kA dsUnz 

ljdkj us dEiuh dks [kwclkjh /ku jkf’k nh vkSj turk us Hkh dEiuh ds mn~ns’; dks /;ku esa j[krs gq, 

[kwclkjk nku fn;kA ckn esa dEiuh vius mn~ns’; ls HkVd xbZ vkSj tc dsUnz ljdkj us ;g ik;k rks 

dsUnz ljdkj us dEiuh dk ykbZlsUl jn~n dj fn;kA dEiuh dks vkns’k fn;k fd yMfd;ksa ds laj{k.k 

dk dk;Z djus okyh dEiuh ds lkFk mldk foy;u fd;k tk;sA dEiuh vf/kfu;e 2013 ds izko/kkuksa 

ds vuqlkj crk;sa D;k dsUnz ljdkj ds vkns’k lgh gS\ 

(5 Marks) 

 

(c) ,d uhykeh foØ; esa C us P dh ,d oLrq ds fy, lcls Å¡ph cksyh yxkbZA fuEufyf[kr oSdfYid 

ekeyksa esa izR;sd dh dkuwuh fLFkfr crkb,% 

Case (a) ;fn C gFkkSM+k fxjus ls igys viuh cksyh okfil ys ys] tcfd ,d 'krZ Fkh fd dh xbZ 

cksyh okfil ugh gks ik,xhA 

Case  (b)  P ;fn mPpre cksyh ysus ls vLohdkj dj ns vkSj foØ; U;wure dher ls izHkkfor ugha 

FkkA 

Case (c) ;fn P vius vk/kkj ij A vkSj B dks cksyh yxkus ds fy, fu;qDr djs] tcfd mlus ,slk 

vf/kdkj lqjf{kr ugha j[kkA 

Case  (d) ;fn C oLrq ys tkus ds fy, vf/kd`r gS] fuEu 'krksZ ij% 

    ¼1½  og ewY; ds fy, pSd pqdk;sxkA 

 ¼2½  LokfeRo rc gLrkUrfjr gksxk] tc pSd clear gksxkA 

pSd izLrqr djus ij vukn`r gks x;k] ijUrq mlls igys C og lkeku Z dks csp pqdk 

FkkA  

Case (e) tc foØ; U;wure dher ls izHkkfor u gks vkSj uhykehdÙkkZ lEifr dh mPpre cksyh 

yxkus okys O;fDr dks foØ; dj nsA ¼og dher U;wure dher ls de gks vkSj ckn esa og 

oLrq nsus ls euk dj ns½A 

(5 Marks) 

 

Question 2: 

(a) lhfer nkf;Ro lk>snkjh dk lekiu fVªC;wuy }kjk fdu ifjfLFkfr;ksa esa fd;k tk ldrk gS\  

(6 Marks) 
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Question 2: 

(b) Mr. G us Mr. H dks chtd }kjk dqN eky ,d fofufnZ"V ewY; ij cspk A oLrq,as iSd gksus ds ckn 

Mr. G ds xksnke esa j[k nh xbZA oLrqvks dks Mr. H ds vfHkdrkZ us tk¡p djus ds ckn mi;qDr ik;kA 

ckn es oLrq dk Hkqxrku udn es dj fn;k x;kA udn izkIr djus ds ckn Mr. G us Mr. H dks oLrqq 

xksnke ls ys tkus dks dgk rkfd og] viuk Lo;a dk eky ogkW j[ks ldsA vxys fnu Mr. G us oLrqvks 

dks [kqys eSnku es xksnke ls ckgj fudky fn;k vkSj o"kkZ dh otg ls lkjk eky u"V gks x;kA 

oLrq foØ; vf/kfu;e 1930 ds vk/kkj ij o.kZu crkb, fd bl uqdlku dk nkf;Ro dkSu ogu djsxkA 

D;k vkidk mÙkj cnyrk ;fn dher udn esa ugha nh xbZ gksrh vkSj vHkh cdk;k gksrhA 

(6 Marks) 

 

Question 3: 

(a) fe- M fe- N vkSj fe- P ,d QeZ esa lk>snkj gS] tks jsfQztjsVj dk O;olk; djrs gSA fe- P 1 vDVwcj 

2018 dks lk>snkjh QeZ ls lsokfuo`r gksrk gS] ijUrq lkoZtfud lwpuk ugha nsrk gSA mlds lsokfuo`r 

gksus ds ckn fe- M fe- N ,oa fe- P ,d O;kolkf;d esys esa tkrs gS vkSj ,d vk/kqfud rduhd okyk 

jsfQztjsVj dh tkudkjh ysrs gSA fe- X tks fd vk/kqfud rduhd okys jsfQztjsVj dh tkudkjh nsrk gS] 

o fe- P ds okrkZyki ls izHkkfor gksrk gS] vkSj mldh QeZ dk foftfVax dkMZ ekurk gSA foftfVax dkMZ 

ij fe- P dk uke lk>snkj ds :i esa of.kZr gksrk gS] tcfd og lsokfuo`r gks pqdk gSA 

fe- X dqN jsfQztjsVj QeZ dks fHktokrk gS] ijUrq ml QeZ ls iSlk ugha fey ikrk gSaA vc fe- X 

lEiw.kZ jkf’k QeZ ds lkFk&lkFk fe- P ls Hkh olwy djuk pkgrk gSA lk>snkjh vf/kfu;e 1932 ds 

izko/kkuks vuqlkj crkb;s D;k fe- P ewY; pqdkus ds fy, mRrjnk;h gSA  

(4 Marks) 

 

(b) A, B rFkk C ,d lk>snkjh QeZ ABC & Company esa lk>snkj gSA QeZ QuhZpj dk O;kikj djrh 

gSA A ds ikl eky [kjhnus rFkk cspus dk vf/kdkj gS vkSj B ds ikl [kkrks dh ns[kHkky djus dk 

vf/kdkj gS o C ds ikl dkuwuh fo"k; oLrq dks ns[kus dk vf/kdkj gSA gky gh esa mUgksus vkilh 

lgefr ls ;g r; fd;k gS fd A vc ys[kk iqLrds ns[ksxk o B dh eky dh [kjhn vkSj fcØh djsxkA 

ijUrq Mr. M dks bl vuqcU/k ds ckjs esa irk ugha gS vkSj mlus lk>snkj A dks QuhZpj dk eky m/kkj 

csp fn;k vkSj ml lk>snkj A us og eky fdlh vU; dks csp fn;kA lk>snkjh vf/kfu;e 1932 ds 

vuqlkj crk;sa fd D;k M vius eky dk iSlk QeZ ls ys ldrk gS\ D;k vidk mÙkj vyx gksxk ;fn 

M dks bl vuqcU/k ds ckjs irk gksrk\ 

(5 Marks) 

 

(c) A, B, C ,d QeZ esa lk>snkj gSA A dk ykHk esa 20 izfr’kr fgLlk gSA A lsokfuo`r gksrk gS vkSj mlds 

15 fnu ckn mldh e`R;q gks tkrh gSA B o C fcuk [kkrks dks] fuiVkjk fd, O;olk; tkjh j[krs gSA A 

ds oS/kkfud mRrjkf/kdkfj;ksa ds vf/kdkj crk,A  

(3 Marks) 

 

Question 4: 

(a) vnRr foØsrk dc xzg.kkf/kdkj dk iz;ksx dj ldrk gS\ D;k og bl vf/kdkj dk iz;ksx rc Hkh dj 

ldrk gS tc lEifr Øsrk dks gLrkUrfjr gks pqdh gks \ dc ;g vf/kdkj lekIr gksxk\ D;k og bl 

vf/kdkj dk iz;ksx rc Hkh dj ldrk gS tc mls U;k;ky; ls ewY; ds fy, fMØh izkIr gks pqdh gks\ 

(6 Marks) 

 

(b) dkSu ls dk;Z lk>snkjksa ds xfHkZr vf/kdkj {ks= esa 'kkfey ugh gS \ 
(6 Marks) 
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Question 5: 

(a) P uhykeh }kjk Q dks ,d ?kksM+k csprk gS tks P tkurk gS fd vLoLFk gSA fuEu ifjfLFkfr;ksa esa D;k 

le>kSrk oS/k gS crk;s & 

(a) ;fn P, Q dks ?kksM+s dh vLoLFkrk ds ckjs esa dqN ugha crkrk 

(b) ;fn P, Q dks dqN ugha crkrk o P, Q dh iq=h gSA 

(c) ;fn Q, P ls dgrk gS fd ;fn rqe euk ugha djksxs rks eSa eku yw¡xk fd ?kksM+k LoLFk gSA P 
dqN ugha dgrk gSA  

(6 Marks) 

 

(b) ,y-,l-vkj- izkbosV fy- y[kuÅ ds ik"kZn lhekfu;eksa esa fn;s x;s mís’; okD; esa mls Qy rFkk 

lfCt;ksa esa O;kikj djus ds fy, vf/kd`r fd;k x;k Fkk] ysfdu dEiuh us ,d fe- ts- ds lkFk lk>snkjh 

djds LVhy dk O;kikj fd;k rFkk ?kkVk gksus ds dkj.k fe- ts- ds izfr mldh nsunkjh gks x;hA ckn esa 

dEiuh us fe- ts- ds izfr viuh nsunkjh ls badkj dj fn;k vkSj ;g rdZ fn;k fd mldk vkSj dEiuh 

dh lk>snkjh 'kfDr cká FkhA dEiuh }kjk ts- dks fd;s x;s badkj dh oS/krk dh tkap dhft,A vius 

mRrj ds leFkZu ds dkj.k crkb,\ 

(6 Marks) 

 

Question 6: 

(a) dkj.k lfgr crk,sa fd fuEu le>kSrs oS/k gS ;k O;FkZ gS Hkkjrh; vuqcU/k vf/kfu;e 1872 ds vuqlkj 

fu.kZ; yhft, & 

(a) fot; lSuh dks 3]00]000 :- esa viuk dkyk ?kksM+k cspus dks lger gksrk gSA nksuksa i{kdkjksa dh 

tkudkjh ds fcuk ?kksM+k le>kSrs ds le; ej pqdk gSA 

(b) losZ’k vius nqdku dh [;kfr fodkl dks 10]00]000 :- esa csprk gS o lgefr nsrk gS fd og 

dHkh Hkh o dgha Hkh Hkkjr esa ;g O;olk; ugha djsxkA 

(c) fe- X izdk’kd ds fy, ,d iqLrd fy[kus dks lger gksrs gSA dqN fnu ckn X dh nq?kZVuk 

esa e`R;q gks tkrh gSA  

(6 Marks) 

 

(b) ljl fyfeVsM dEiuh dh dqy iwath 1 djksM :- gS ftlesa 8 yk[k lerk va’k 10 :- okys iw.kZ iznÙk gS 

vkSj 2 yk[k lap;h vf/keku va’k 10 :- okys iw.kZ iznRr gSA thou izkbZosV fyfeVsM vkSj lw/khj izkbZosV 

fyfeVsM us 3 yk[k rFkk 50 gtkj lerk va’k Øe’k% ljl izkbZosV fyfeVsM esa ys j[ks gSA thou izkbZosV 

fyfeVsM rFkk lw/khj izkbZosV fyfeVsM nksuksa ih;w"k izkbZosV fyfeVsM dh lgk;d dEiuh;ka gSA dEiuh 

vf/kfu;e 2013 ds vuqlkj crkbZ;s D;k ljl izkbZosV fyfeVsM ih;w"k izkbZosV fyfeVsM dh lgk;d 

dEiuh gS\ D;k vkidk mÙkj vyx gksxk ;fn ih;w"k izkbZosV fyfeVsM ljl izkbZosV fyfeVsM ds 9 esa ls 

8 funs’kdksa dks fu;qDr djus dk vf/kdkj j[krh gS\ 

(6 Marks) 
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PAPER : BUSINESS CORRESPONDENCE & REPORTING 
 

The Question Paper comprises of 5 questions of 10 marks each.  
Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three. 

 

 

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS) 

 
Question 7: 

(a) Comprehension Passages 

 Read the following comprehension passages and answer the following 

questions 

 Marie Curie was one of the most accomplished scientists in history.  Together with 

her husband, Pierre, she discovered radium, an element widely used for treating 

cancer, and studied uranium and other radioactive substances. Pierre and Marie’s 

amicable collaboration later helped to unlock the secrets of the atom. 

 Marie was born in 1867 in Warsaw, Poland, where her father was a professor of 

physics. At an early age, she displayed a brilliant mind and a blithe personality. Her 

great exuberance for learning prompted her to continue with her studies after high 

school. She became disgruntled, however, when she learned that the university in 

Warsaw was closed to women. Determined to receive a higher education, she 

defiantly left Poland and in 1891 entered the Sorbonne, a French university, where 

she earned her master’s degree and doctorate in physics. 

 Marie was fortunate to have studied at the Sorbonne with some of the greatest 

scientists of her day, one of whom was Pierre Curie. Marie and Pierre were married in 

1895 and spent many productive years working together in the physics laboratory. A 

short time after they discovered radium, Pierre was killed by a horse-drawn wagon in 

1906. Marie was stunned by this horrible misfortune and endured heartbreaking 

anguish. Despondently she recalled their close relationship and the joy that they had 

shared in scientific research. The fact that she had two young daughters to raise by 

herself greatly increased her distress. 

 Curie’s feeling of desolation finally began to fade when she was asked to succeed her 

husband as a physics professor at the Sorbonne. She was the first woman to be 

given a professorship at the world-famous university. In 1911 she received the Nobel 

Prize in chemistry for isolating radium. Although Marie Curie eventually suffered a 

fatal illness from her long exposure to radium, she never became disillusioned about 

her work. Regardless of the consequences, she had dedicated herself to science and 

to revealing the mysteries of the physical world. (Source: internet) 

 (1) A word in the passage which is a synonym of ‘friendly’ is: 

  (a) Revealing 

  (b) Distress 

  (c) Amicable 

  (d) Stunned 

 (2) What increased the distress of Marie Curie? 

  (a) The sudden death of her husband. 

  (b) She would have to raise her daughters all alone 

  (c) She could not continue with her radium discovery 

  (d) The knowledge of her fatal illness. 

 (3) Which of the following statements is false according to the passage? 

(a) Marie Curie did not attend any University because women were not 

allowed  to  do so. 

  (b) Pierre was killed in accident involving horse wagons. 

  (c) Curie also worked on the element Uranium. 

  (d) Curie got a chance to teach Physics at Sorbonne. 
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 (4) Give the passage a suitable title 

  (a) Madam Curie and Pierre Curie 

  (b) Discovery of Radium and Uranium 

  (c) Mysteries of the physical world 

  (d) Madam Curie: struggles turn to achievements! 

(5) Choose an option than describes Madam Curie, based on the information 

given in the passage: 

  (a) Heartbroken, coward, weak 

  (b) Bold, dedicated, confident 

  (c) Complaining, disgruntled, arrogant 

  (d) Despondent, tired, ruthless 

(5 Marks) 

 

(b) Define the term ‘communication’. How is it relevant in daily life? 
(3 Marks) 

(c) Select the suitable antonym for the given word: 

 (i) Vigilant 

  (a) Inattentive (b)  Curious   (c)  Concerned  (d)  Careful 

 (ii) Proficient 
(a) Probable   (b)  Incompetent  (c)  Skilled   (d)  Available 

(2 Marks) 

Question 8: 

(a) Growing health problems in the youth today: Causes and Consequences.  

 Include words: lifestyle, lethargy, physical work, internet, obsession 

(5 Marks) 

 

(b) Based on communication channels, what are the different kinds of communication 

methods? Explain. 
(3 Marks) 

(c) Fill in the blanks with the most suitable choice: 

 (1) The judge ordered a death sentence when the accused was found________   

  (a) Transparent  

  (b) Abusing  

  (c) Culpable  

 (2) His first move was to________the enemy team and then behead each one. 

  (a) Announce  

  (b)  Seize  

  (c) Complete  

  (d) Harvest 

(2 Marks) 

Question 9: 

(a) Your company, has witnessed a gradual decline in a consumer product over the one 

year. Prepare the minutes of the meeting for the same. Members in the meeting; 

Head of the Sales and Marketing, Product head, Product lead and concerned team 

members. 

(5 Marks) 

 

(b) What is the ‘chain of command’ in communication? What are its drawbacks? 

(3 Marks) 
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(c) Select the suitable synonym for the given words: 

 (i) Rife 

  (a) Unknown 

  (b)  Widespread   

  (c)  Accountable  

  (d)  General  

  (e)  Survive 

 (ii) Oppressive 

  (a) Grand  

  (b)  Publish  

  (c)  Tolerance  

  (d)  Proactive 

  (e)  Distressful 

(2 Marks) 

 

Question 10: 

(a) You bought a printer a few days back from a leading chain of electronic stores. Now 

you found a few defects in its working. Write a letter to the dealer complaining about 

the problem and requesting him to rectify the problem or replace the printer. 

(5 Marks) 

 

(b) Differentiate between the Vertical Network and the Wheel and spoke method of 

communication. 

(3 Marks) 

 

(c) Change the following to Active voice 

 (1) Results had to be declared by the school authorities. 

 (2) The test must be completed by you in one hour. 

(2 Marks) 

 

Question 11: 

(a) Précis Writing 

 Read the following passages and write a précis for the same. 

 There are approx. 6000 languages spoken worldwide. Out of them only some 

languages have script while others exist only in spoken form. Language diversity is 

common phenomena to the human. But Language death is equal to human death. In 

this regard, we need to work for language documentation, making new language 

policy, and new application to enhance the vitality of languages. A language is 

endangered when it is on a path toward extinction. Indeed, without proper 

documentation, a language that is extinct can never be revived. A language is in 

danger when its speakers cease to use it, use it in an increasingly reduced number of 

communicative domains, and cease to pass it on from one generation to the next. 

That is, there are no new speakers, adults or children. About 97% of the world’s 

people speak about 4% of the world’s languages; and conversely, about 96% of the 

world’s languages are spoken by about 3% of the world’s people (Bernard 1996: 

142). Many indigenous peoples, associating their disadvantaged social position with 

their culture, have come to believe that their languages are not worth retaining. For 

linguist, each language is unique and each language is a unique expression of the 

human experience of the world. Thus, the knowledge of any single language may be 

the key to answering fundamental questions of the future. Every time a language 

dies, we have less evidence for understanding patterns in the structure and function 

of human language, human prehistory, and the maintenance of the world’s diverse 
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ecosystems. Raising awareness about language loss and language diversity will only 

be successful when meaningful contemporary roles for minority languages can be 

established, for the requirements of modern life within the community as well as in 

national and international contexts. External Specialists and Speech Communities 

External language specialists, primarily linguists, educators, and activists see their 

first task as documentation. 

(5 Marks) 

 

(b) Describe various characteristics of effective communication? 

(3 Marks) 

 

(c) Change the following Direct speech into Indirect speech 

 (1) He said, ‘I have passed the examination. 

 (2) Call the second witness,’ said the judge. 

(2 Marks) 

 

  

*** 
 


